INERT TR B HR R UALD  sunscigians:
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ITHEX T P % P
EET 641 531 535 1,066
L HT 90 88 106 194
rp T 47 43 59 102
THET 709 638 715 1,353
T 533 511 574 1,085
ER Al 393 371 431 802
’J[‘S BT 496 526 559 1.085
f§ B2 267 266 332 598
X FRE 730 836 914 1,750
[ 282 347 404 751
HigE 160 170 188 358
N} 796 907 992 1,899
N 294 313 351 664
INRFE2 826 802 951 1,753
INBRAR R & BT 6,264 6,349 7,111 13,460
R 638 637 724 1,361
hg2 380 353 432 785
PN % 612 603 733 1,336
[/ KR FH1 364 383 446 829
% KiE 1,199 1,208 1,297 2,505
= KRR 1 10 14 24
KirFF2 298 336 391 727
RERRXSET 3,502 3,530 4,037 7,567
EW 354 365 435 800
HLIZFF H #h 794 803 953 1,756
1R 652 838 915 1,753
_ HE 302 352 383 735
= =) 115 128 169 297
= mE 1,381 1,540 1,812 3,352
% = ' ' : :
X =iR 752 764 909 1,673
—EMNE1 605 698 767 1,465
—EMNE2 542 607 655 1,262
EHDAE 441 702 729 1,431
=ERREE 5,938 6,797 7,727 14,524
ZIR 84 88 100 188
Fi8 221 286 294 580
w 58 64 73 137
v 58 66 58 124
v EHS 60 65 87 152
a T#5 30 35 33 68
1 HE 311 289 375 664
= &M 75 73 92 165
SR 139 141 167 308
1E3L 60 65 79 144
NG 401 421 458 879
AAERREET 1,497 1,593 1,816 3,409
T&H 130 120 138 258
, i 63 77 82 159
}1;" —% 120 152 148 300
*}; - % 595 768 877 1,645
X =L 223 219 257 476
=3 105 110 138 248
R X ST 1,236 1,446 1,640 3,086
Sl 77 102 109 211
JIT 85 95 100 195
15 J\IR 226 210 271 481
IR EHE 194 172 236 408
B 7 200 246 278 524
= T 177 174 201 375
gl 64 78 72 150
BRI X & & 1,023 1,077 1,267 2,344
ER Al 174 166 180 346
ke at:] 155 162 147 309
= PN 478 522 499 1,021
¥ REF 594 600 619 1,219
L5 e 631 615 683 1,298
= KRR 716 722 768 1490
EEES 241 183 58 241
HERRXEE 2,989 2,970 2,954 5,924
o =iR 51 33 50 83
L FHNE 1,518 2,053 2,162 4215
,gat EHME 1,348 1,940 2,115 4,055
f’i‘ BT H 391 519 574 1,093
DNEHNERRXEET 3,308 4545 4,901 9,446
=k 25,757 28,307 31,453 59,760




